
LOCTITE

Apply Loctite

Apply Loctite to all screws

LOCTITE

REV. 18FX-PFCW-250817-01

08

CAUTION: Please check your model helicopter carefully before attemp to fly!

COPYRIGHT © 2017 MICROHELI

®

MICROHELI CO., LTD.

TITANIUM MAIN SHAFT/CNC DELRIN MAIN GEAR/AUTO-ROTATION HUB SET

MH-18FX067X

15

.....x1

0.8x5.2mm Stainless Steel Pin

BLADE 180 CFX  CNC Blade 180 CFX Performance combo package INSTRUCTION

4x8x0.5mm

Brass Bushing

408005BB

4x8x6mm

Oneway Bearing

HF0406

0.8x5.2mm

Stainless Steel Pin

000852PSS

Main Shaft Oneway

Titanium

MH-18FX066T

Upper Main Shaft Collar

MH-18FX067UC

Main Gear Hub

Oneway

MH-18FX067H

1.6x5.5x0.5mm

Aluminum Washer

165505WA

M1.6x3mm

Phillips Head Screw

M1630PSS

Main Gear

MH-18FX069MC

M1x3mm

Phillips Head Screw

M1030PSS

4x8x0.5mm

Brass Bushing

408005BB

.....x2

M1x2mm Phillips Head Screw

.....x6

M1x3mm Phillips Head Screw

.....x1

1.6x5.5x0.5mm Aluminum Washer

.....x2

4x8x0.5mm Brass Bushing

.....x1

4x8x6mm Oneway Bearing

.....x1

M1.6x3mm Phillips Head Screw

M1x2mm

Phillips Head Screw

M1020PSS

M1x2mm

Phillips Head Screw

M1020PSS

Lower Main Shaft Collar

MH-18FX067LC

LOCTITE

Apply Loctite to all screws

PRECISION CNC STAINLESS STEEL TAIL ROTOR HUB

MH-18FX043RH

16

BLADE 180 CFX  CNC Blade 180 CFX Performance combo package INSTRUCTION

.....x2

1.4x2.5x0.3mm Stainless Steel Washer

Apply Loctite

LOCTITE

REV. 18FX-PFCW-250817-01

08

CAUTION: Please check your model helicopter carefully before attemp to fly!

COPYRIGHT © 2017 MICROHELI

®

MICROHELI CO., LTD.

.....x2

M1.4x3mm Phillips Head Screw

Tail Shaft

(Stock part

not included)

M1.4x3mm

Phillips Head Screw

M1430PSS

Tail Blade Grip

MH-18FX043BG

(Not included)

Tail Blade Grip

MH-18FX043BG

(Not included)

M1.4x3mm

Phillips Head Screw

M1430PSS

Tail Rotor Hub

MH-18FX043RH

Tail Shaft

(Stock part

not included)

M1.4x3mm

Phillips Head Screw

M1430PSS

1.4x2.5x0.3mm

Stainless Steel Washer

142503WSS

Tail Blade Grip

(Stock part

not included)

Tail Rotor Hub

MH-18FX043RH

Tail Blade Grip

(Stock part

not included)

1.4x2.5x0.3mm

Stainless Steel Washer

142503WSS

M1.4x3mm

Phillips Head Screw

M1430PSS


	Sheets and Views
	Model


